2°%d g3 A
A5 %
(k8] @ o€l %)
- i Adx(a) % (b) A
= H] & = H] & =4 | HlE
da 2 eA= 11,805 28.3 9,649 19.7 A2,156| 218.3
fr 7F 5 4 501 1.2 500 1.0 Al £0.2
AEagdE 22,653 54.3| 32,283 66.0] 9,630] 42.5
AAAFHE 1,188 2.8 1,143 2.3 A451 A3.8
j{ (=T 564 1.4 525 1.1 A39] £6.9
) H]-f-E AR 160 0.4 169 0.3 9 5.6
7] eF 2} A 981 2.4 234 0.5 =747 27.2
Al-gAksd 27 36,724 88.0| 43,453 88.9] 6,729 18.3
AukALY] 5,002 12.0 5,429 11.1 427 8.5
2k A Z A 41,726| 100.0] 48,882 100.0{ 7,156 17.1
o & & 34,517 82.7| 40,452 82.8] 5,935 17.2
s = 1,188 2.8 1,143 2.3 A45| A3.8
jﬁ 7] B 5 A 975 2.3 1,630 3.3 655 29.8
Al-gAksd 27 36,680 88| 43,225 88| 6,545 43
AukALY] 1,300 12 1,758 12 458 35.2
AN FA 3,7980] 100.0{ 44,983, 100.0f 7,003] 18.4
2k B = 984 26.3 1,067 27.4 83 8.4
At Aol = - - - - - -
L oje}eof= 2,761 73.7 2,831 72.6 70 2.5
71t - - - - - -
22 F A 3,745 100.0 3,899 100.0 154 4.1
FA 2 AR 41,725 100.0| 48,882 100.0f 7,157 17.2
# S7lE = F9(b)/F9(a)x100-100




2. £33k
(39 - dL %)
- . =7t
s j
T = Ad=(a) #d%(b) = o s
[. A 6,744 7,449 705 10
1.o]A5<] 1,309 1,584 275 21
2. FFEFY 19 32 13 68
3.7]1ekr<] 2217 36 A191 N84
4. AduA] <] 5,189 5,797 608 12
. AFde]8-(-) 6,297 6,402 105 2
1.0]Am] & 669 827 158 24
2.7 EH S 19 66 47 247
3.7l & 447 106 N341 AT6
4. dukrlgin] & 5,162 5,403 241 5
. AFde]d(1-1) 447 1,047 600 8
V. 2] e]n] 1,025 1,144 119 12
V. Akgdele] ABT8 A9T 481 A83
VI. AR 9] - 7] ekl 907 298 A609 AT6
VI AF3$] - 7] e 8- 172 123 A49 A8T
VI " elAv]-& 16 8 A8 A50
X. B7]sze] ] 141 70 AT A50
¥ 718 = F9(Db)/FH(a)x100-100
3. F8AAAR
(9 : %, %p)
- A% (a) F9%(b) =%
TARE] S 10.14 8.79 N1.35
A o] slelAln] & 3.90 0.63 N3.27
A A E A& 3.32 0.69 A2.63
qESda3nE 109.45 107.73 A1.72
Fapakol o & 0.35 0.16 A0.19
FE5An& 110.57 93.26 A17.31
oflcie| g 69.07 79.08 10.01

% =7 =

& = BlE(b)-HlE(a)



